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} bicyclists and =

pedestrians.

Please take out a sheet of paper to mark
down and score your answers.

Good luck!
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a. Ride on a roaaway.
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b. Occupy a lane



a. Ride on a roadway b. Occupy a lane

c. Ride out of a bike lane to avoid
an obstruction



a. Ride on a roadway b. Occupy a lane

d. ALL are correct

c. Ride out of a bike lane to avoid
an obstruction



a. Ride on a roadway b. Occupy a lane

ANSWER:

c. Ride out of a bike lane to avoid
an obstruction



Pedestrian crossing the street mid-block
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Pedestrian crossing the street mid-block
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a. At least 1 foot from the widest point

Of both the car and bicycle



a. Atleast 1 foot from the widest point ~ b. At least 2 feet from the widest point of
of both the car and bicycle both the car and bicycle



a. Atleast 1 foot from the widest point ~ b. At least 2 feet from the widest point of
of both the car and bicycle both the car and bicycle

R

c. At least 3 feet from the
widest point of both the car
and bicycle
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Focusing on passengers [alking on a cell phone or texting

while driving while driving

~ Adjusting the car stereo while Eating while driving
y driving



e

- e -

'



£lV/ e&g’nou ¢

-

- —

’



- -
"~

Yield to oncoming bicyclists rather
[han rushing to beat the bicyclist.
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Yiela to oncoming bicyclists rather n. Watch for pedestrians
(han rushing to beat the bicyclist. WNOo are In the ¢
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d. Yleld to oncoming b]cch]sts rather 0.
than rushing to beat the bicyclist.




ol R
¢ Ilow‘ing StatementsTarenis

- —



a. Motor vehicles may park in
bicycle lanes.



a. Motor vehicles may park in b. Motor vehicles may cross
bicycle lanes. bicycle lanes with solid
dividing lines to turn.



a. Motor vehicles may park in b. Motor vehicles may cross
bicycle lanes. bicycle lanes with solid
dividing lines to turn.

c. Both are true.



a. Motor vehicles may park in
bicycle lanes.

c. Both are true.

Motor vehicles may cross
bicycle lanes with solid
dividing lines to turn.

Both are false.
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a. Motor vehicles may park in
bicycle lanes.

c. Both are true.

ANSWER:

. Motor vehicles may cross

bicycle lanes with solid
dividing lines to turn.
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Motorist may drive up to the
edge of bicycle lane
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95t collision
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Pedestrians walking at dusk Pedestrians walking at night
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a. Wnen two bicyclists are riding
Slde-oy-side
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a. Wnen two bicyclists are riding
Slde-oy-side
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a. When two bicyclists
Slde-oy-side

c. When making a left turn or using a
~left turn lane
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When two bicyclis
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Slde-oy-side

c. When making a left turn or using a
left turn lane



Vehicle turning left
while cyclist
proceeds straight

Vehicle turning right
while cyclist
proceeds straight




Vehicle turning left
while cyclist
proceeds straight

ANSWER:

Vehicle turning right
while cyclist
proceeds straight
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Tell the bicyclist to ride on the

Sldewalk.
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Tell the bicyclist to ride on the

Sldewalk.
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a. A bicyclist riding Into the street from  B. Opening a car door Into the path of
Iveway or side street an oncoming bicyclist
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1 A pedestrian wWho may be walking out
~from the front of a stopped car that you



A pIcyclist riding Into the street from  B.

Q
o
=
<
@
=
()

vay or side street

A pedestrian wWho may be walking out
from the front of a stopped car that you

Opening a car doc

rlrJ

JI INto the patn

ncoming BIcyclist

olj



&

&£

J

a. A bicyclist riding Into the street from

a driveway or side street

C. \OHFJ estrian who may be walking out
from the iront of a stopped car that you

are passing :
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Opening a Gl ¢ door Into the patn of

an oncoming bicyclist
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p. Continue without slowing since the

pedestrian must wait until traiic
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Continue without slowing since the

pedestrian must wait until traiic
C

Honk to warn the pedestrian the car

roceedaing without slowing
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EUIO a rln\ cradowhen APPIEECHTNg an intersection
AN EKEaICTESSIWaIK but a pedestrian
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| ONn the road at the
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BIored “bike boxes”
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At Intersections with marked

Crosswalks.

Q
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a. At Intersections with marked pD. At midblock without a marked
Crosswalks. crosswalk.



At Intersections with marked pD. At midblock without a marked

Crosswalks. crosswalk.

Q

C. At Intersections without a marked
~ Crosswalk.
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At Intersections with marked p. At midblock without a marked
J
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crosswalk

c. At Intersections without a marked



a. At Intersections with marked pD. Al midblock without a marked

Crosswalks. crosswalk.
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a. A driver turning right only 100KsS left, 0. Adrver turns left into a pedestrian
not seeing the peaestrian on the rignt becawse 'ne driver only checked 1or
oncoming traffic

3 A driver in a school zone does not
’ 1 J Ie v [ )
i watch tor children-whoe move

. “unpredictably
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A driver turning right only 100Ks left,
not seeing the pea
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3 A driver in a school zone does not

watch for children-who move
‘unpredictably
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a. A driver turning right only 100KsS left, 0.
. not seeing the pedestrian on the right
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\ driver turns left Into a pedestrian
pecause the driver only checked for
oncoming traffic
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~ 15-16 correct
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"~ 15-16 correct

13-14 correct:
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